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Direction : Answer the following questions by selecting the most appropriate option.

1. fparEen F g B qEa &9 & fo 1. To cooperate the adolescent it is
ATF & ) essential to
(1) sfERem (1) Inspire
(2) T (B (2) Indicate his mistakes
(3) STl BT (3) Criticise him
(4) THEHS Hder BT (4) Do negative behaviour
9. UH AF F TEEIET of HAUH A 9. Which of the following is not a
GeCip) Tlé frifefaa q P-4 gfafe suitable technique used by teachers
UG TR ? for socializing the child ?
(1) 998 fareqor (1) Direct teaching
(2) TR (2) Identification
(3) TG SAGAET (3) Democratic discipline
(4) AT (4) Over-protection
3, UF RN & g & fawa frpfaiaa 3. Which of the following is a wrong
¥ 7T 99 A e 7 statement about emotions of an
adolescent ?
(D L Cu iR CIIC| s 2 gRafd (1) Emotional expressions are
2 ¥ modified by learning.
(2) AT I B 2 (2) Emotions are permanent.
(3) URE A/ TH G ?J}}r}l 2 B (3) Every emotion 1s accompanied by
: a feeling.
(4) G a9 Gﬁ"Fﬁ q S || E4 (4) Emotions are aroused by external
- stimuli.
4. qfRa farem @ s © 4. Inclusive education means
(1) AT Ry=yarall 1 G FHE-HA (1) Meeting individual differences in
q g FHT general classroom.
(2) @ el @ R (2) Meeting individual differences in
i qU ST different classroom.
(3) A el @ e e (3) Meeting individual differences in
q U BT special schools.
(4) T frtarel @ 2 W GF\-@EFT (4) Meeting individual differences in
T I ST home based instruction.
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(1) 9-a) g 3 99 #57)
(2) @ I W M=RT 33|
(3) Werl @kl @t weifE g |
(4) E-ITaet i a5 w3
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- TR fRvepTer |

(3) FB IO F M Fmfor ey

(4) aflear @ RREF #1 fre e
8. ST o s @ Rt @

FIeR I garaq fafy &
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() ym=E  (4) e

9. Frfifed & & P Feoien §
AT R & o qeor 777 Y 7

(1) 9 98 T & & G geg
BT

(2) Ruda o & ofy smdor 2y
(3) Wl WA ¥ qry i Ay

(4) Rfre st § fear e
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(4)

In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values can be effectively
inculcated among the students when
teacher

(1) Frequently talks about values.

(2) Himself practices them.

(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in

developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference,

(3) creating and
something.

constructing

(4) thinking about ways of reacting.

. Best method of dealing with adolescent

by parents and teachers is
(1) Autocratic

(3) Democratic (4) Restrictive

(2) Permissive

Which of the following is not a

characteristic of social development in

adolescence ?

(1) Active member of their peer
group

(2) Being an attraction towards
opposite sex

(3) High decrease in friendly
relationship

(4) Extension of special interests
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(5)

10.

11.

12.

13.

14.

(@

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the

problem of

(1) Speaking accurately

(2) Writing without
mistakes

committing

(3) Listening message properly
(4) Doing mathematical calculations

Continuous  and Comprehensive
Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

All aspects of development of
child.

The knowledge of child only.

The understanding of child only.

3)
4

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means
(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

(3) of the

Recognization subject-

matter.

4)

Completion of content.

P.T.O.
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15.

16.

1T

Differentiation of emotions takes

place at the time of

(1) Birth of child

- (2) During infancy

(3) During the period of adolescence

{4) Dﬁring adulthood

Which of the following provision is
not  suitable to meet individual
differences among learners ?

(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

(3) Labelling them.
(4) Making Individualisation necessary,

Working with adolescents,
particularly maladjusted one, which is
not appropriate ?

(1) Critical approach
(2) Democratic approach
(3) Collective.approach
(4) Ideal approach

Heredity plays most important role in
the

(1) Emotional developmentl of the
child

(2) Social development of the ¢hilq
(8) Physical development of the child

(4) Cultural development of the child
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19-

20.

21.

22.

A

The
learning is must for a good teacher,

knowledge of principles of

because

(1) It helpsin maintaining discipline.

(2) It Thelps to make content
interesting.
(3) It helps to understand the content

by simple methods.

1t saves time.

(4)

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity

Which of the
characteristics of

the
constructivist

following 18

classroom ?

(1) Students
draws conclusions and compare

design experiments,

their findings.

(2) Knowledge is objective, universal
and complete.

(3) Teacher transmits authoritative
‘knowledge to students.

(4) Students look for
answer.

the 'right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(8) Law of assimilation

(4) Law of disposition

P.T.O.
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23.

24,

25.

26.

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is
example of

(1) Inter individual differences
(2) Intra individual differences
(3) Individual differences

(4) Measurable individual differences

an

That internal state of mind that

arouses, directs and maintains
behaviour is called as
(1) Interest (2) Opinion

(3) Attitude (4) Motivation

Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (5.Q.).

Development generally proceeds from
head to foot, this principle of

~ development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific

(4) Cephalo Caudal
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29.

30.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's

capabilities, capacities and

learning styles.
(2)

It stresses the importance of

enquiry, observation and

investigation.

3) It emphasises transmitting
knowledge to the learner by the
teacher.

(4) Tt uses methods like experiential

learning, problem solving, concept

'mapping and creative writing.

A child's attitude 'I do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence

(3) Denial

(4) Retrogression

Level-3/175
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HIT - I1I/PART - 11
HIST - 11 ($351)/LANGUAGE - IT (ENGLISH)

Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :
I suddenly realized I (watch).

(1) am being watched

" (2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is

given :

LT | — = Plentiful

(2) some
(3) ose
(4) ful

Level-3/175

64.

65.

66.

I don't enjoy going to the dentist.’
The the

sentence is a/an

word 'going' in above

(1) Present participle
(2) Infinitive
(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence -

Mother said, "Don't go to the park."
(1) Mother asked us not to go to the
park.

(2) Mother told us not to go to the
park.

(3) Mother said us not to go to the
park.

(4)

Mot_her said to us to not to go to
the park.

Which of the following expression

means 'extremely happy' ? .
(1) bea baskep case |
(2) fall off your perch
(3) be off your trolley

(4) on cloud nine
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(15) A
67. Choose the correct  passive Direction : (Q. Nos. 70 to 74) : Select the
construction of the sentence : sentence that is grammatically correct :
Auctioneers will sell the painting at
auction. | 70. (1) My brother is the student in
(1) The painting would be sold at Mayo College.

auction. .
(2) My brother is student of Mayo

(2) The painting will be sold by the College.

auctioneers at auction.

o . (3) My brother is a student in the
(3) The painting will be sold at
Mayo College.

auction.
(4) The painting will be selling at (4) My brother is a student in Mayo
auction. ' College.
68. Identify the figure of speech in the 71. (1) Neither of them were present
following sentence : there.
I must be cruel, only to be kind. .
. (2) Neither of them was present
(1) Epigram : there.

(2) Paradox .
(8) Neither of them present there.

(3) Analogy

(4) Metaph (4) Neither of them are present
etaphor
i there.

'69. Which of the following words is mis-
spelt ? 72. (1) The roses smell sweet.

(1) incongruous (2) The roses smell sweetly.

(2) chronological
(3) The roses are smelling sweetly.
(3) synchronus

(4) sympathetic (4) The roses are sweetly smelling.

Level-3/175 : P, T. 0.
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74.

75.
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(1) You certainly did not ought to do
it

(2) You certainly ought not to have

done it

(3) You certainly did not ought to

have done it,

(4) You certainly ought not to have

been done it.

(1) Who was the book given to ?
(2). Who the book was given_‘to 2
(3) The book was given to who ?

(4) Whom was the book given to ?

Choose

transcription of the word 'Locate'

the correct  phonetic

(1) Nuket/

(2) Nokeit/

(3) /lou'keit/

(4) /Nouket/

Level-3/175
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76. Choose the correct direct speech of

717.

78.

the given reported speech :
He said I'd better go because it was late.

(1) He said, "You'd better go because

it's late."

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

(4) He said, "You'd better go because

it was late."

Which of the following is spelt

correctly ?

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert the d_eﬁnite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.
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79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

[ said I wanted a car for my

seventeenth birthday. He said I

am too young,.

(3) My father put his foot down when
I said I wanted a car for my
seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time
(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/175
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A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites is the utter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instihct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know: and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
is

unbiased freedom of mind which

necessary to its receiving and giving their

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Tts price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P. T:0;



82,

83.

84.

85.

What is not a requisite of common

sense ?

(1) the wutter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

(4) an unbiased freedom of mind

Which of the following is not stated

by the writer in the passage ?

(1) Affectation destroys common
sense,

(2) Common sense requires the
utmost simplicity and sincerity.

(3) Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

(4) Common sense _destroys the
native simplicity and warps and
trammels the freedom of mind.

Fill in the blank with the most
appropriate word :

Common sense has been well
pronounced to be ‘fairly worth the
8OVON s

(1) Notions (2) Sciences
(3) Talents (4) Wits

Which is not a synonym of the word
'pedant' ?

(1) dogmatist

(2) formalist.

(3) perfectionist

(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

86. ... child should learn to read and

(1) Al (2) Every
(3) Whole (4) Both
87. Can I ask your ..........., do you think
TV violence is harmful ?
(1) opinion (2) favour
(3) question (4) advice
88. Where is my wallet ? I left it .............
the kitchen table.
(1) at (2) in

3) on (4) by

89. Take some medicine and the pain will

80 oo -
(1) back (2) off
(3) out (4) away

90. The walkers finally arrived at their

destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(49) have been walking; had walked

Level-3/175
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HMAT -IV/PART -1V

~ Hifes fasm/ PHYSICS
%St : e gsat & gav 37 @ [ 98 3fed A% gl

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

i gl oI # MmERY 50 Hz ®, @
o A g @ e AN 9% 98
¥ @m e e

1 3 1.2
M) 200 @ 100

1 1
(3) 5%@3’ (4) Z{—ﬁ?@ﬂa

n THEAM a1 e s @ aEar Lo
2, omg ¥ afowrer #Rdl §| 3@
SAfpem dEarell #STA F B,
g aAfe |

() F TEE 2 R

(i) Fe THEE ¢

1) n? (2i
(1) n ) =

@ 1 @ n
n

Fr= & P a1 & 2 1 9l B orEny

?wgﬁmﬁaﬂwﬁmﬁﬁﬁmmm
?

(1) X- fet (2) T R

(3) TS aE (4) gUHH T

gﬁzﬁmm%mmﬁﬁgaﬂr
(1) 88-108 MHz

(2) 540 - 1600 KHz

(3) 54-72MHz

(4).-3/7- 4.2 GHz

w@%nﬁrﬁ@naﬁgmﬁ

(1) @i @
(2) HUE AT
(3) el

(4) S5 STt

7 g
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91.

92.

93.

94.

95.

If the frequency of alternating
current is 50 Hz, then the time taken
by current to rise from zero to
maximum, is

1 1
1) ——sec. 2)  ——
(D 250 sec (2) = sec.
1 1
3) — 3 4) —
(3) = sec (4) 200 sec.

n identical waves, each of intensity Io
interfere each other. The ratio of
maximum intensities if interference
is '

(i) Coherent and
(11) Incoherent

1) n? @+
n
3) % @ n

For which of the following waves, the
diffraction, using an obstacle of 1 ¢cm
size, can be observed ?

(1) X-rays
(3) Light waves (4) Ultrasonic waves

(2), Gamma ra}fs

Frequency band for standard AM
broadcast is

(1) 88-108 MHz

(2) 540 - 1600 KHz

(3) 54-72 MHZ

(4) 3.7-4.2GHz

The analogue of
momentum in translatory motion is
(1) angular acceleration

(2) angular momentum

(3) torque

(4) moment of inertia

rotational

P.T. O.
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99.

100,
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U & #H §aE W UM AT
36 km/hr &1 3% T A = 5 dew
g, @ M @ MY weE 3w
HTER I F A BN (A H A
T = 107 poise)

(1) 103N/m?

(2) 1074 N/m?

(3) 2x103N/m?2

(4) 2x1072N/m?2

TF Ioag CERE: g9
T B, @ q dafg e 7 9
HA-8 O Frag ©F ?

(1) (2) e Fat

(3) 4) &

TF %G H 10 cm BE T B Ead

T § 20 em X @ ST ¥ AT §

g1 gfife e

(1) 9l T I

(2) arfas o g

(3) AT, I ©F qE] F Bre

(4) f®, e UF aE B OAEN B
EREES

B & & e &1 @t D aee

A B, TarE @l @ e st

T B 7

(1) e (2) WA

(3) IgH (4) IH FO

80 Q UfaUY F UF AN B Wit 20

TE BT B RA S B AR #
gfcy & S

(1) 80Q

(2) 160 Q

(3) 320Q

(4) 640 Q
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96.

97.

98.

99.

100.

The velocity of water at the surface of
a river is 36 km/hr. If the depth of
then find the
shearing between  the
horizontal layers of water (Coefficient

river is 5 meter,

stress

of viscosity of water = 102 poise)

(1) 1073N/m?

@) 1074N/m?

(3) 2x1073N/m?

(4) 2x1072N/m?

An electron enters in a magnetic field
along perpendicular direction, then
which of the following quantities

related to electron will
constant ?

remain

(1) Momentum (2) Kinetic energy
(3) Velocity (4) Acceleration

An object is placed at a distance of
20 cm in front of a concave mirror of
focal length 10 cm. The image
produced is

1)
2)
3
4)

virtual and inverted

real and erect

real, inverted and diminished

real, inverted and of the same
size as the object

Which of these particles has the
minimum  De-Broglie wavelength,
when the Kkinetic energy of all the
particle is same ?

(1) Electron (2) Photon

(3) Neutron (4) Alpha particle
If a wire having resistance 80 Q is
stretched to double the length, its

resistance becomes

(1) 80Q
(2) 160 Q
(3) 3200
(4) 640 Q
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104.

105.
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g7
1) 12

1
@ 7

X-FRvell 1 WagH B §

(1) Had

2 s

(3) Had uwd e

4) J=

fraf & o %1 oo & @
(1) 9 &

(2) |ged &

(3) e am

(4) f|T &/

1 kg 59 & TH T& 2
& HEER B W AR g,
gifzg &1 o B 3l fam
K = 200 N/m &, @ farm § gdies e
(g=10mfs2€'ﬁﬁ|t{)

(1) 0.5m (2) 0.4m
1 1

U%F p-n @Y SAE ¥ 999 TG &l &

(1) P99 q9 &% 98 g 1 &
(2) Fad 79 TG 95 STIRREE JEkd &

(3) ¥ q9 Eih 98 UeERRIe S
-

4) FE T TE A F s aERE
2 a1 &
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101.

102.

103.

104.

105.

A

The self-inductance of a long solenoid
of length 'I' is proportional to

() "1* ) 1
1 1

3) 7 4 2

Spectrum of X-rays is
1)
(2)
(3)
(4)

continuous
linear
continuous and linear

band

Heat propagates in vacuum by
(1) conduction

(2)
(3)
(4)
An object of mass 1 kg falls on a

vertical spring from a height of 2 m,
and spring gets compressed. If spring

convection
radiation

diffusion

constant K = 200 N/m, then the
compression in the spring 1is
(take g = 10 m/s?)
(1) 0.b5m (2) 0.4m
| 1
(3) —=m (4) —m
J5 5

A p-n junction diode contains a
depletion layer

eV
(2)
3

only if it is unbiased
only if it is forward bias

only if it is reverse bias

4

irrespective of whether it is
biased or unbiased

2T, 0
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Uh @ bid U@ U U fRew ¥ gf 106. A sound source and an observer are
A FOIT FEear %, ar vEE P ang stationary. If the velocity of sound is
g""ﬂ T 9T ety & \'ﬂﬁﬁﬁ changed, then the frequency of sound
source heard by observer will

(1) El%‘ﬂ (1) increase

(2) g (2) decrease

(3) Srftafda & (3) remain same

na

r & 3led 7H B
() 0 (2) %a

1 B
(3) i (4) 50
AT T U QHOISE ST &
U I B
(1) 10° 2 107°
(3) 101® (4) 1071

Tl & TEEE A A S 9T

eI

(1) e @ @@ (

(2) J=HE ga |

(3) T g W

(4) 45° ITHIY T

gferas o ¢
B.(A+B)+A.(B+A)

F TR FA F A gaw e #

aMed

(1) 1 AND gate

(2) 2 AND gate

(3) 1O0R gate

(4) 2 OR gate
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107.

108.

109.

110.

(4)

increase if the velocity of sound is
increased

The wave function in ground state of
Hydrogen atom is given as

v T

1 e

==l B8
[na?’J

The average value of r is

3

(1) 0 @ Za
1 5

The ratio of nuclear volume to the
atomic volume is

(1) 10° (2) 107°

3) 101 (4 10715

There is no vertical component of
earth's magnetic field at

(1) Equator

(2) Magnetic poles

(3) North pole

- (4) 45° latitude

The Boolean expression :
B.(A+B)+A.(B+A)

can be realized using minimum
number of

(1) 1 AND gate

(2) 2 AND gate

(3) 1OR gate

(4) 2 OR gate
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JVe-W)
STq et et § 300% ghe B R, 7@
T B AT qodl @

(1) 20%

(2) 50%

(3) 100%

(4) 200%

q AR F FIHM W& H S
1: 338 3% A0EE 5 & T
&

(1) 1:3 (2) 8:1

@ @51 @ 1:1
TEE @ o gk ® e A

fres a1 THEET S a9l © 7
(1) Se9-fgg aee &

(2) Ffoore e g™

(3) @Y 9@ [T

(4) Pred Reds a)

e O F AEF o

(1)
(2)
3)
(4)

V m3A twh™?
V m2Awb™!
Vm3A wb™!

vm2A~2wb
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111.

112,

113.

114.

115.

A

An electron moving in an electric
potential field V; enters a higher
electric potential field Vy, then the
change in kinetic energy of the electron
is proportional to

@ Va-W)

@ (Va-Vp)

@ (Vo -W)?
) |

«fiVQ _Vl )

When the kinetic energy is increased
by 300% the momentum of the body
is increased by

(1) 20%

) 50%

(3) 100%

(4) 200%

Two nuclei have their mass number

in the ratio of 1 : 3. The ratio of their
nuclear densities would be

(1) 1:3 @) 3:1

4

(3) (3)%: 1 4 1:1

The wave nature of electron can be
explained by

(1) photoelectric effect
(2) black body radiation
(3) compton effect

(4) crystal diffraction

The unit of Hall Coefficient is
1) V mPAlwb!

2 Vm2Awb!

(3) VmiAttwh!

4 Vm2A~2wb

P.T.0.



116.

117

118.

119;

http://haryanatet.com

2 1.5x10%0
(3) 150 O

4) 15x10%0Q

i R TR B EeHT e daR g
G SR 2, A OSHE T e
ol & S

(1) (2) e

(3) emRafid T (4) =R A

7 % faRee w@m & e & p o
TG TRl BhoT @ daar 1, B 3y

Tl B A x T W@ W e
g

3 forgell Padr Q W fgq e a1
HEM: 10 V T — 4 V 2| 100 gAY
# g PR Qs @M & B o a9 B

(1) 9.60x10717g
(2) —2.24x10716g
(3) 2.24x10716g
(4) -9.60x10717g
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116.

117,

118.

119.

The colour code strips on a carbon
resistance starting from one end are
brown, green, orange and silver. The
value of resistance is

(1) 15x103Q
(2) 1.5x103Q
(3) 150 Q

4) 15x10%0Q

If a wire is stretched to double its
length,
elasticity will be

(1) doubled (2) halved

(3) unchanged (4) four times

its Young's modulus of

In Young's double slit experiment
fringe width is B and the intensity of
central bright fringe is J;,. Intensity of
light on the screen at a distance x
from the central bright fringe will be

a I, cos[%J

@ I, cos{%)
@) I, cosz[n—;J

@ I, cosz[lBJ
X

Two points P and @ are maintained
at the potentials of 10 V & -4 V
respectively. The work done in
moving 100 electrons from point P to

QR is

(1) 9.60x10717J
(2) —2.24x10716J
(3) 2.24x10716g
(4) -9.60x10717J



120.

121.

122,

123.

124.

125,
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(1) 047

(3) 027

B Jufkerd B §
(1) g4t 95 F
) T d3 §
(3) ahfa = S |

(4) G @ Ao §8 d A

wF geresll #1 HeeE aRE 0.12 B
6000 A vy & forq gl @ e
a3

(1) 30.5x10"'m
(2) 30.5x10"m
(3) 61x10"m
(4) 61x107*m
qg & & gogel & I STHEE H

OTUE 3 : 1 2| I AT B AU
2

(1) 1:3 @) 3:1
(8) 1:27 4) 1:9
FEGSH U] % YW & P
0.5x100m B, ar =Y F& F B ®

(1) 2x107%m (2) 4x107"m
3) 8x107¥%m (4) 2x10°m
0 K a9 9 GHl FHoit &l |y ol &

3.65x107%? n%eV
3.65x10" 0 2eV
3.65x1019 2 8¢V
3.65x107°n 26V

1)
(2)
3)
4)
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120.

121.

122,

123.

124.

125,

A

Two particles on a string are 20 cm
apart. If the frequency and speed of a
wave propagating on string are
200 Hz and 100 m/sec respectively,
the phase difference of oscillation of

these particles in radian is
(1) 0.4m (2) 0.8=
3) 0.2 (4) 0.6n
Holes are present in

(1) valance band

(2) conduction band

(3) forbidden energy gap

(4) both in conduction and valance
band

Numerical aperture of a microscope is
0.12. The resolution limit of the
microscope for 6000 A light is

(1) 30.5x10"m

(2) 30.5x10™*m

(3) 61x107"m

(4) 61x107*m

The excess pressure for two soap
bubbles are in ratio of 3 : 1. The ratio
of their volumes is

{1y 1:3 2 3:1

3) 1:27 4 1:9

The radius of first orbit of hydrogen
atom is 0.5x107m. The radius of
4th orbit is '

(1) 2x107%m (2) 4x107%m
3) 8x107%m (4) 2x10°m

At 0 K temperature the general
expression of Fermi energy is

(1) 3.65x100 5 80V
(2) 3.65x10'%72¢V
(3) 3.65x10"°n 3V
(4) 3.65x10‘19n%ev

P.T.0O.
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T 9% 9 § 98 N9 # a9 1°C T
W G IE 0.4% ¥ ol 21 N H
URfE a9 2

(1) 400 K (2) 250K
(3) 2500K  (4) 4000 K
A IWE g B AR SR gaER el
A, P Bl @ omum 4 1
TFEX T W@ § | I FE @ @

A R
1) 16:1 2 1:16
3 2:1 4 1:2

o F FBR Foeet § [ 9 98 @
%l@%‘cﬁ%%ﬁwg@aﬁuaﬁmqﬁ

(1) 2\/51101 @) 2‘\/5}101
na a
3) ‘JE’J,L"I 4) ‘JE“[}I'
Ta a

g g gvE § o/ ey @
qeRE gl 8, A wRgaeET @

(1) gem gedl &
(2) fyway 7as St gedt
(3) TE ged &
(4) AFTH T Foll dodl B

qﬁ@aﬁﬁqﬂrs%mﬁ’r%ﬁrwﬁa
¥ e @ et ?

(1) 20% (2) 10%

(3) 5% 4) 2.5%

UF AT F B 5.2 £ 0.2) T R e
& o # ofeer gfE &

(1) 11% 2) 4%

(3) 7% (4) 9%
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126.

127,

128.

129.

130.

131.

On increasing temperature of a gas
contained in a closed container by
1°C its pressure increases by 0.4%.
The initial temperature of the gas is
(1) 400K (2) 250K

(3) 2500 K (4) 4000 K

Two satellites are orbiting the earth in
circular orbits of radii in the ratio 4 : 1.
The ratio of their orbital speed is

(1) 16:1 (2) 1:16

3) 2:1 “4) 1:2

A current ¢ is flowing in a square coil
of side a. The value of magnetic field
at the centre of the coil is

1 22 TRy @ 22 Lot
na a

3) '\/ELLOI 4) ‘\/E’J.ol
na a

When the wavelength of incident
light in photoelectric effect decreases,
then photoelectron's

(1)

number increases

(2) maximum kinetic energy
decreases

(3) number decreases

(4) maximum kinetic energy
increases

If current in a bulb is decreased by
5%, then power will be decreased by
1) 20% 2) 10%

(3) 5% 4) 2.5%

The radius of a ball is (5.2 + 0.2) cm.
The percentage error in the volume of
the ball is
(1) 11%
3 7%

(2) 4%
4) 9%
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S dE-gEed @Y & e op W H
Pt et etad ¥

= ]:-OH—4 +12x1074 } henry/meter

B & HM 1 3% &, 38 ¢ H & H9H
foper 2T =nfen ?

(1) 240 amp/m (2) 48 amp/m
(3) 124 amp/m (4) 500 amp/m

% I LCR 99y ¥ L = 1 mH,
C=10 uWF Td R =500 Q 8| 3 I&HA
ug gRdE ufqa ey @, @ S
H AH 2

(1) 100 2) 50Q

(3) 100Q @) 50

W F IR @fa e v § afk @
R

(1) 9 B &

(2) e 8

(3) Hear

(4) Frad e @

Ty gE 37 1 faenard dem vsiy
¥ foEe 3 fod fea faemard o @
JMGLIHAT B ?

(1) 4 (2) 5

3) 6 4) 7

W R W oty 3 & A=
fryeEdl &0 AN ™ GEar, dieeHie]
BN AN T R @ ge 5

(1) B9 &9 e @

(2) IUETERT B

(3) EhaN A o B

(4) I roEr FH FB A & THA ¢
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132,

133.

134.

135.

136.

A

For a ferromagnetic material the p
and H are related as :

T [% +12x1074 ]henry!meter

For B to be 1 tesla, the value of H
should be

(1) 240 amp/m (2) 48 amp/m
(3) 124 amp/m (4) 500 amp/m

A series LCR circuit contains L = 1 mH,
C = 10 pF and R = 500 Q. If the
inductive and capacitive reactance
are equal, then the value of the
reactance is

(1) 10Q (2) 50Q

(3) 100 Q 4) 5Q

The weight of a person in a lift
accelerating upwards

(1) 1is zero

(2) increases

(3) decreases

(4) remains constant

To write the decimal number 37 in
binary number system, how many
binary digits are required ?

(1) 4 (2) 5
(3) 6 4) 7

The potential difference across a

given resistance measured with

potentiometer in comparison to the
one measured by voltmeter is

(1) always less
(2) equal
(3) always more

(4) may be less or more

P.T.O.
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A (28)
137. (Z+§) agr (Z'—E.) % &g e | 137. What can be angle between (X+§')
TET & and (A -B) ?
(1) @& 0° . (1) 0°only
(2) Faw 90° (2) 90° only
(3) Fad 180° (3) 180° only
(4) 0° T 180°% (4) Between 0° to 180°
138, GOH U9HE | AU S Tl & 138. Tunnel effect is used to explain
(1) «a-&g (2) B-&T (1) o-decay (2) B-decay
(3) y-&¥ (4) I &7 (3) y-decay (4) Neutron decay
139. 7Kg oMl UF d@ 3 oTaRS 139. Which of the following is true for the
ﬁ'l'_g’\?vﬁ 3 o s 8§ Q PH-A1 GTE ? internal points of a spherical charged
conducting surface ?
(1) E=0,V=0 (1) E=0,V=0
2 E=0,V#0 2 E=0,V#0
B) E+0, V0 3 E+0,V+#0
4 E#0, V=0 4 E+#0,V=0
140. ©H TqF &ar ‘?f_ A ug gEr H 140. A lens is behaving as a converging
HUER] o9 # Wi Fger T 2| g lens in air and diverging in water.
P 9aTd F TqIF B The refractive index of the material
of lens is
(1) &1 % S19ad+i® d FH9 (1) smaller than that of air
(2) 81 g YAl EMT B oTUFdTE Q (2) greater than that of both air and
1A water
@) = 3 i d s % e (3) ;g}l;git‘e:az:fn that of air but less
F UFdIF d FH
' (4) equal to that of water
(4) TH & UEAAIE B A
141. el o fRved frr 141. In any fission process the ratio
frgveT IOR #1 ZEmm mass of fission products s
e T F Zeme mass of parent nucleus
£l . ;
: (1) greater than one
(1) ©F § v & 2 (2) less than one
(2) T 9 F9 2 2 (3) equal to one
(3) UF & &Y Bl & (4) depends on the mass of parent
(4) I RE & Zome [ R s nucleus
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qarg aczkzrtz G
SE k U FEdiE 31 F0 W FERd
TN 3R 4 A @

k2r?
2.3
@ mk3r£
I g 9 H A9 2% 9 @
e & g g & Rrgs gy
GE ar 9T F Uiy a8

(1) mk*r?

(3) mk2t?

ay 2 @ 50G
50
G

® = 4) 49G

100 uF % TF G # 200 V 0@
afera fFar S & aquesn 3@ 2 oM
3wy d FraRm R s R

gty # I F ST @
(1) 20 (2) 200J
®) 10J 4) 2J

e qnt ® | @9 fafg § i 787
T Tl 7

(1) X-freof

(2) g ol

(3) SYaE ad

(4) T e T &

TF Freal g gy 300 W adr

ﬁml.om%,ﬁ%@ﬁﬂqﬁf
3 gdEd dieedt did @ el S B

geed] T 9 F 9F FAEAT H#;OAW
2T

(1) 0°
3) 60°

2 45°
4) 90°
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142.

143.

144.

145.

146.

A

A particle of mass m is moving in a
circular path of constant radius r such
that its centripetal acceleration a. is
changing with time ¢ as a, = k22,
where k 1is constant. The power
delivered to the particle by the force
acting on it is

2.2

(1) mk2r2t (2) N
2,3

@) mh2e2 (4) kart

If only 2% of main current is to be
passed through a galvanometer of
resistance G, then the resistance of
the shunt will be

G

(1) %0 (2) 50G
G

(3) o7 4 196G

A capacitor of 100 pF is charged to
200 V and then it is discharged
through a 2 ohm resistance. The total
heat generated in the resistance is

(1) 204 (2) 2004d

(3) 10d 4) 24J

Which of the following waves cannot
travel through vacuum ?

(1) X-rays

~(2) Ultrasonic waves

(3) Infrared waves

(4) All options are wrong

A coil of resistance 300 ohm and
inductance 1.0 Henry is connected
across an alternating voltage source

of frequency %(-)-QHZ. The value of
n

phase difference between voltage and

current will be

(1 o

(3) 60°

2) 45°
(4) 90°
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A (30)
147. R P91 &1 & gl & WD A9 & 147. The moment of inertia of a disc of
e e Q]T%U'f 25 kg m? & | 9541 F ;‘gdius }2? I?:bout a dtiar;l.etric;l axil;s ii
WS AW G W Fw Y Lol w o paxalle] i to Mawetsr & &
W a ST H H SR GHTT &I distance % from the centre will be
(1) 37.5kgm? (2) 75 kg m? (1) 375kgm? (2) 75 Ikg m?
(%) 31.25kgm? (4) 50 kg m? (3) 31.25kgm? (4) 50 kg m?
148. Q WM % X UHAMH &Y a Yo a 148. Four similar charges of each value @
T FE W@ B UHiE qE9 H are placed at the corners of square of
A AT F B ab am § frr side a: The work needed to bring a
F4 & unit positive charge from infinite to
the centre of the square is
1) @ —-—4£Qa ! 0
g (1) Zero (2
o V2Q 2,2Q AT
¥ Few ™ wen J2Q 22Q
0 ‘ 3) c)
_ TEga T €ga
149. I = 910 T4 GRS 4/ 999 @), 149. If conduction current is same as
a9 )9 & : displacement current, then source is
(1) Paa JoaGd! = (1) only a.c.
2) Faa Re qrq (2) only d.c.
(3) vdmEdl 9 B g a1 (3) both a.c. and d.c.
(4) 7 B am A gewEd (4) neither a.c. nor d.c.
150. TF FHl 59 250 K g 300 K a9 & 150. A Carnot engine works as a
qe U IPEE H ave FHE FHar g refrigerator in between 250 K and
T A A9 F F EE A 750 A 300 K. It acquires 750 calories from
GGl %, @ 3| a9 W Ige I heat source at low temperature, then
(%F-ﬁ'& ﬁ) B the heat generated at higher
temperature (in calories) will be
(1) 900 (2) 625 (1) 900 (2) 625
(3) 750 (4) 1000 (3) 750 (4) 1000
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FRRG GIdEd B AYA] SN IAP famr vd aiford)-
qa‘wugmmmﬂﬁmﬁm qem g A8
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14.

15.
16.

17.
18.

19.

20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e 0o @

The answer will be treated wrong, if it is marked, as
given below :

@ ® © &

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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